
Контрольная работа № 4

Вариант 1

Решите уравнения:

1. [image: image1.png]2sinx++2 =0.




2. [image: image2.png]



3. [image: image3.png]sin?x-2cosx+2=0.




4. [image: image4.png]sin xcosx + 2sin” x = cos’ x.




5. Решите уравнение: [image: image5.png]3sin? x - 4sin xcosx +5cos? x = 2.




6. Найдите корни уравнения [image: image6.png]sin3x = cos3x,



 принадлежащие отрезку [image: image7.png]



Вариант 2

Решите уравнения:

1. [image: image8.png]2c0sx++3 = 0.




2. [image: image9.png]sin [2)(*”]*»1:0.
3




3. [image: image10.png]cos’ x+3sinx-3=0.




4. [image: image11.png]3sin® x = 2sin X cOSX + COS X.




5. Решите уравнение: [image: image12.png]5sin® x — 2sinxcosx + cos x = 4.




6. Найдите корни уравнения [image: image13.png]sin2x = /3 cos2x,



 принадлежащие отрезку [image: image14.png]



Решение заданий контрольной работы

Вариант 1

1. [image: image15.png]2sinx++42=0




    [image: image16.png]sinx=—-——




Ответ: [image: image17.png]x=(- 1)"*‘ +m, neZ.




2. [image: image18.png]



    [image: image19.png]



    [image: image20.png]



    [image: image21.png]2-Zoom
2




    [image: image22.png]3
x:7”+47m, nez.




Ответ: [image: image23.png]3
2 oam, nez.




3. [image: image24.png]sinx—2cosr+2=0




    [image: image25.png]1-co x—2cosx+2=0




    [image: image26.png]cos x+2cosx—3=0




    cos х = а

    [image: image27.png]



    [image: image28.png]



    cos х = 1
или
cos х = –3

    [image: image29.png]



нет решений.

Ответ: [image: image30.png]2m, neZ.




4. [image: image31.png]08 X

sin xcosx+ 2sin“ x





    [image: image32.png]2sin® x+sinxcosx—cox=0 /:cof x =0




    [image: image33.png]2g’x+tgx—1=0




     tg x = а

    [image: image34.png]



    [image: image35.png]



    tg x = –1
   или

[image: image36.png]P 1
x==
8 2




    [image: image37.png]x
=+ m,
4

neZ



         [image: image38.png]1
x=aretg - mn e Z.




Ответ: [image: image39.png]Ll 1
~Zim, arctg—+m,nez.
4 2




5. [image: image40.png]3sin® x— 4sinxcosx+5cof x =2




    [image: image41.png]3sin? x - 4sin xcosx +5cos? x = 2sin?x + 2cof x




     [image: image42.png]sin? x — 4sinx cosx+3cos x=0 /:cof x=0




    [image: image43.png]tolr—dtgx+





     tg x = а

     [image: image44.png]



     tg x = 1

или

tg x = 3

    [image: image45.png]n
x==+m,
4

neZ





         [image: image46.png]x=arctg3+m,neZ.




Ответ: [image: image47.png]%+7m, arctg3+ 1, ne Z.




6. [image: image48.png]sin3x=cos3x /:cos3xz0  [0;4]




    tg 3x = 1

   [image: image49.png]3x="tm, nez
4




    [image: image50.png]



при [image: image51.png]



при [image: image52.png]



при [image: image53.png]=

o4}




при [image: image54.png]



при [image: image55.png]



Ответ: [image: image56.png]



